

INVOICE

The Randle Law Office 820 Gessner, Suite 1570 Houston, TX - Texas 77024

Invoice #: 7125

Date: 09-02-2025

Waller County

Matter Name:Sandhill and Falcon Development Agreement

Services

Date	Staff	Description	Hours	Rate	Amount
08-25-25	AT	Review revisions.	1.70	400.00	\$680.00

Services Subtotal: \$680.00

Subtotal	\$680.00
Total	\$680.00
Payment	\$0.00
Balance Due	\$680.00

Detailed Statement Account Summary

Previous Balance: \$4,600.00 New Charges: \$680.00 Payments Applied: \$4,600.00

Payment Date Invoice No Amount 08-26-25 6988 \$4,600.00

Total Amount Outstanding: \$680.00

Timekeeper Summary

Name Initials Hours Rate Total
Alexandra Tolbert AT 1.70 400.00 \$680.00

Page: 1

To pay by credit card, please call our office at 281-657-2000 Firm Tax ID 20-3850938 $\,$



INVOICE

The Randle Law Office 820 Gessner, Suite 1570 Houston, TX - Texas 77024

Invoice #: 7124

Date: 09-02-2025

Waller County

Matter Name:Sagebrush Development Agreement

Services

Date	Staff	Description	Hours	Rate	Amount
08-25-25	AT	Review revisions.	2.00	400.00	\$800.00

Services Subtotal: \$800.00

\$800.00	Subtotal
\$800.00	Total
\$0.00	Payment
\$800.00	Balance Due
\$0.00	Payment

Detailed Statement Account Summary

Previous Balance: \$1,720.00 New Charges: \$800.00 Payments Applied: \$1,720.00

Payment Date Invoice No Amount 09-08-25 7042 \$1,720.00

Total Amount Outstanding: \$800.00

Timekeeper Summary

Name Initials Hours Rate Total
Alexandra Tolbert AT 2.00 400.00 \$800.00

Page: 1

To pay by credit card, please call our office at 281-657-2000 Firm Tax ID 20-3850938 $\,$



INVOICE

The Randle Law Office 820 Gessner, Suite 1570 Houston, TX - Texas 77024

Invoice #: 7123

Date: 09-02-2025

Waller County

Matter Name: Fieldstone Landing Development Agreement

Services

Date	Staff	Description	Hours	Rate	Amount
08-05-25	АТ	Review developer revisions for needed comments.	0.50	400.00	\$200.00
08-25-25	АТ	Review revisions and make recommendations.	2.80	400.00	\$1,120.00

Services Subtotal: \$1,320.00

Subtotal	\$1,320.00
Total	\$1,320.00
Payment	\$0.00
Balance Due	\$1,320.00

Detailed Statement Account Summary

Previous Balance: \$9,007.00 New Charges: \$1,320.00 Payments Applied: \$9,007.00

Payment Date Invoice No Amount 08-26-25 6986 \$2,160.00 09-08-25 7040 \$6,847.00

Total Amount Outstanding: \$1,320.00

Timekeeper Summary

Name	Initials	Hours	Rate	Total
Alexandra Tolbert	AT	3.30	400.00	\$1,320.00

To pay by credit card, please call our office at 281-657-2000 Firm Tax ID 20-3850938